1.7 A question of scale. You measure the distance between two owl nests on a 1:24000 scale topographic map to be 6 cm. What is the actual ground distance between the nests?

The distance between the two owl nests is 6 cm.

The map scale is 1:24,000.

This implies that one unit measured on the map represents 24,000 of those same units on the ground. Therefore, the distance between the two owl nests is 24,000 x 6 cm on the ground, or 144,000 cm.

Using the English system of measurement:

144,000 cm = 56,692.91 inches (assuming 2.54 inches per cm)

56,692.91 inches = 4,724.4 feet

4,724.4 feet = 0.89 miles between owl nests

Using the metric system of measurement:

144,000 cm = 1,440 meters

1,440 meters = 1.44 kilometers

CHECK: One kilometer = 3,281 feet, or 0.6214 miles. Therefore, 1.44 kilometers = (0.6214 x 1.44) miles, or 0.89 miles.

